Bug box for Lindsay:
	Number and date
	Problem
	Status

	Please note: three general problems:

1) Words that have no lxo form (i.e., no Oapan cognate for an lxa (Ameyaltepec) word nevertheless offer users the opportunity to generate an Oa form in the XSLT dictionary template. This should be changed so that if there is no lxo form, the Generate form should offer only the possibility of generating Am forms.

2) Certain words mismatch tags: see problem of pale:wia next box.

3) Accented words do not generate. Solution is to create an lxop (practical Oapan form) that has only “morphological accent” which is the only accent that does not shift. Thus ícopí in the lxo field will have icopi in the lxop field, which is the input. However, some words will have accents in lxop: naká:skaya:wa (lxo for this word is naká:skayá:wa, however, the accent of yá is not included in the lxop field). The accent never shifts off the -ká:s- and should therefore be retained. We need a character set that will display accents. 
	
	

	#1 Correct mismatching of tags in verbs like pale:wia.
	
	

	#2)

Verb pale:wia and others do not produce table from dictionary.

Tag mismatch <plural>kipale:witikah </singular>
As you proceed down the transitive verbs, ignoring the words that have no Oapan form (1st error) or that have accents (2nd error) there are left words that produce two types of results:

a) A:IXWI:TIA and other words give a correct table

b) A:KOPA and A:LPI:CHIA produce the same error as pale:wia. I don't know why. There is no apparent reason for this.
	
	

	#3
2nd error: All Oapan forms with accents generate blank tables. Note that  Á:WICHWÍYA yields a blank table. This needs to be fixed in the following way.

a) In the new dictionary (Balsas; and we have to get this up soon) I have a field called lxop (Practical Oapan Nahuatl). In this field the only accent is an immutable accent, i.e., it never changes position. The lxo field should not be used. We need to completely abandon the ldc site ASAP and run the parser off the Balsas Site, so JJ needs to get the proper information to Lindsay. Then, the parser should take as input to generate forms:

lxo unless there is an lxop field, in which case lxop will be used.
	
	

	
	
	


